MATH 114 - QUIZ 12 - 18 APRIL 2013
Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, cven if they are correct, will earn no
credit.
1. (5 pts.) Use the ratio test or root test to determine whether or not the series Z ke k
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2. (5pts.) Use the alternating series test to determine whether or not the series Z(—l)’““ T
k=1

converges or diverges. (For an extra bonus point: does it converge absolutely? Why or why
not? I need a reason, but not necessarily a proof.) N
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MATH 114 - QUIZ 12 - 18 APRIL 2013

Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without Justification, cven if they are correct, will carn no
credit.
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1. (5 pts.) Use the ratio test or root test to determine whether or not the series Z T
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2. (5 pts.) Use the alternating series test to determine whether or not the series )
(5 pts.) g k;( 1
converges or diverges. (For an extra bonus point: does it converge absolutely? Why or why
not? I need a reason, but not necessarily a proof.)
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MATH 114 - QUIZ 12 - 18 APRIL 2013

Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, even if they are correct, will earn no
credit.
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1. (5 pts.) Use the ratio test or root test to determine whether or not the series > o
k=11

converges.
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2. (5pts.) Use the alternating series test to determine whether or not the series E(_l)k-HkA_H
k=1

converges or diverges. (For an extra bonus point: does it converge absolutely? Why or why
not? I need a reason, but not necessarily a proof.)
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